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• Exercise 1: Write the equation for the β decay of 14
6 C (atomic mass

14.003242u) to 14
7 N (atomic mass 14.003074u). What type of β decay

does this equation represent? Calculate the energy released in the
reaction.

• Exercise 2: Calculate the binding energy released in the α−decay of
185
79 Au (atomic mass 184.965790u) to 181

77 Ir (atomic mass 180.957625u).

• Exercise 3: Complete the picture below adding the names of the
elementary particles that are missing.

• Exercise 4: Is the decay τ− −→ e− + γ possible? Motivate your
answer.

• Exercise 5: Is a particle formed by the three quarks uds a hadron?
Motivate your answer.



Figura 1: picture taken from https://en.wikipedia.org/wiki/Standard_

Model and edited.

https://en.wikipedia.org/wiki/Standard_Model
https://en.wikipedia.org/wiki/Standard_Model

